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1. The smallest possible sum of two different prime numbers is
A)3 B) 4 C)3 D) 6

2. The greatest common factor of two numbers 1s 3. The product of these two numbers must be divisible by
A) 6 B) 9 C)12 D) 18

3. The sum of 5 consecutive one-digit integers 1s at most
A) 15 B) 25 C) 33 D) 45

4. How many two-digit multiples of 10 are also multiples of 12?

A)4 B) 3 C)2 D) 1

1 :
5. I have read exactly 5 of the total number of chapters in my 120-page book. If each

chapter has the same whole number of pages, then the total number of chapters I have
left could be

A) 16 B) 24 C) 32 D) 50
6. What is the greatest odd factor of 4% x 5° x 6%?
A) 36 B)- 5 C) 3%x 57 D) 30% 52

7. What is the sum of the factors of the prime number 20177
A) 2016 B) 2017 C) 2018 D) 2019

8. Lynn ran in 6 times as many races as the number of races she won. How many of her
126 races did Lynn not win?

A) 21 B) 90 C) 96 D) 105

9. The least common multiple of 8 and 12 is the greatest common factor of 120 and

A) 80 B) 124 C) 144 D) 180

10. January has the greatest possible number of Saturdays when January 1 occurs on any of the following
days of the week except

A) Thursday B) Friday C) Saturday D) Sunday
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The number that 1s 10% of 1000 1s 10 more than 10% of
A) 90 B) 100 C) 900 D) 990

The sum of 16 fours has the same value as the product of _?  fours.

A) 2 B) 3 C) 4 D) 16
Of the following, which is the sum of two consecutive integers?

A) 111 111 B) 222 222 C) 444 444 D) 888 888

Abe drove for 2 hours at 30 km/hr. and for 3 hours at 50 km/hr, What was Abe’s average speed over the
5 hours?

A) 35 km/hr. B) 40 km/hr. C) 42 km/hr. D) 45 km/hr.

My broken watch runs twice as fast as it should. If my watch first broke at 6:15 P.M., what time was
displayed on my watch 65 minutes later?

A) 7:20 PM. B)7:25PM. C)820PM. D)8:25PM.
(2018 x 2017) + (2018 x 1) =
A) 20172 B) 2018 C) 2018° D) (2018 + 2017)?

A prized bird lays 2, 3, or 4 eggs each day. If the bird laid 17 eggs in 1 week, on at most
how many days that week did the bird lay exactly 2 eggs?

A)2 B) 3 C) 4 D)5

Of the following, which could be the perimeter of a rectangle whose side-lengths, in cm, are prime
numbers?

A) 10 cm B) 22 cm C) 34 cm D) 58 cm

The average of all possible total values of a 4-coin stack of nickels and dimes (containing at least one of
each coin) is

A) 20¢ B) 30¢ C) 40¢ D) 60¢

The diameter of Ann’s drum 1s 40 cm more than the radius. What 1s half the
circumference of the drum?

A) 1207 cm B) 80r cm C) 607 cm D) 40z cm

Of the following, which expression has the greatest number of factors that are multiples of 2018?
A)2018 x 12 B) 2018 C) 20197 D) 20192

When the sum of the factors of a prime number is divided by that prime number, the remainder 1s
A)O B) 1 )2 D)3

What 1s the sum of the digits of the greatest integer that has a square root less than 1007?

A) 18 B) 36 C)99 D) 100

My favorite number has 6 different factors. If the product of all 6 factors is 123, what is the sum of the
factors of my favorite number?

A) 24 B) 28 C) 32 D) 36

For how many different pairs of unequal positive integers less than 10 is the least common multiple of
the numbers less than their product?

A) 6 B) 7 C) 8 D)9
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Exactly é of the students in my class have at least one brother, and % have at least one sister. If 5

3

have no siblings, what fraction of the students in my class have at least one brother and at least one

sister?
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Each day, Sal swims a lap 1 second faster than on the day before. If Sal swims a
lap in 60 minutes on the 1st day, on what day does he swim a lap in 10% less
time than the 1st day?

A) 359th B) 360th C) 361st D) 362nd
20172018 x 20172019 = 20172 x 20171009

A) 1010 B) 2010 C) 3028 D) 4038 f\

Both arcs AB and AD are quarter circles of radius 5, figure on the right. Arc BCDisa 3

BY=
semi-circle of radius 5. What is the area of the region ABCD? Y

A) 25 B) 10 + 57 C) 50 D) 50 + 57 A

For every $5 I earn from my job, I save $2. For every $4 I save from my job, I am given an additional $1
from my parents to add to my savings. How much must I earn in order to have $40 in savings?

A) $160 B) $120 C) $100 D) $80 3 P

In the figure on the right, the side-length of the smaller square is 4. The four arcs are ‘

four semi-circles. Each side of square ABCD 1s tangent to one of the semi-circles.

The area of ABCD 15 /
A) 32 B) 36 C) 48 D) 64 4 K
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A million is a large number, a followed by 6 zeros. A googol is a large number, a followed by
one hundred zeros. A googolplex is a large number, a “1” followed by a googol of zeros. A

googolplexian 1s a large number, a “1” followed by a googolplex of zeros. A googolplexian 1s

1

A) 1019 B) 10" c) ‘10" D) None of the above

An integral triangle 1s a triangle with positive integral side-lengths and a positive area. Such a triangle
can have a perimeter as small as 3. What 1s the next smallest possible perimeter of an integral triangle?

A)4 B) 5 C)6 Iy57
2 Iiter of 2% fat milk + 3 liter of 3% fat milk = 5 liter of _? fat milk
A) 2.5% B) 2.6% ] 5% D) 6%

One day, a motorist came to a hill that was ten-mile drive up one side and a ten-mile drive down the
other. He drove up the hill at an average speed of 30 miles per hour. How fast will he have to drive down
the other side to average 60 miles per hour for the entire 20-mile distance?

A) 30 miles per hour B) 60 miles per hour

C) 90 miles per hour D) None of the above

What is the weight of a fish if it weighs ten pounds plus half its weight?

A) 10 B) 15 C) 20 D3y 25

Without using pennies, how many different combinations of coins (nickels, dimes, quarters) will make
30 cents?

A)3 B) 4 C)d D)6



38. A man once bought a fine suit for which he paid $30 more than % of its price. How much did he pay

for the suit?
A) $30 B) $35 C) $40 D) $45

39. A father 1s five times as old as his son. In fifteen years he will be only twice as old. How old is the father
at present?

A) 40 B) 35 C) 30 D) 25
1
40. It takes 30 minutes to completely fill a tank. If, however, a hole allows — of the water that is entering

the tank to escape, how long will 1t then take to fill the tank?
A) 40 B) 45 C) 60 D) 90
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